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Mathematics E INTERMEDIATE PART —1I, Class 11* Y- (D) Paper:1
Time: 30 Minutes Objective Code : 6191 Marks : 20

Note:  You have four choices for each objective type question as A, B, C and D. The choice which | i

you think is correct, fill that circle in front of that question number. Use marker or pen to fill the

circles. Cutting or filling two or more circles will result in zero mark in that question.

1. 1- (1+)'=
(A) 2 (B) 4 (©) 8 (D) 16
2. The conjunction of two statements p and ¢ is denoted by
(A) peg B) pr—gq (®) g—>p (D) prg
3.0f |4|=5, then|d'|=
a5 B ® (D) 5
ol @ i =2 then d‘: ==
c d b
(A) 2 (B) =2 (D) 0
5. No. of roots of the equation (x—4)* =x*-8x+16 are
(A) 2 (B) 4 ©) 8 (D) infinite
6. If w is cube root of unity, then (1+w—@’)'=
(A) -8 (B) 8w () 8 (D) -8
P {—i% will be proper fraction if degree of pl(x)is
(A) 1 (B) 2 (©) 3 (D) 4
8. The series a+ar+ar’ +— o converges, if ;
A =1 (B) Ir|=1 © ri=t (D) || <1
9. A,G, H, are in s
(A) A.P (B) G.P © H.P (D) scries

10. For an event A, range of its probability P (A) is

(A) —1s P(A <1 (B) 0<P(A) <1 (C) 0<P(A)<l (D) P(A)=I

11. If "¢ —"¢c; =0, thenn=

(A) 0 (B) 4 (&) 6 (D) 9

(Turn Over)
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- (INTERMEDIATE PART -1, Class 11" )
Mathematics Paper: I
- Time: 2:30 Hours (SUBJECTIVE) Marks : 80
Note: Section I is compulsory. Attempt any three (3) questions from section 1L
(SECTION -1)
s Write short answers to any Eight parts : (8x2=16)
i. Provethat z=cz iff z is real.
il. N 3 ; - )
! Separate into real and imaginary parts. L—z-l-'—’"il-)—
+i
iii. Does the set {0,—1} possess closure property with respect to (i) addition (ii) multiplication?
iv. Write the set {xlx e pAx <12} in descriptive and tabular form.
v. Provethat P — pvq istautology.
vi. Define a group.
vii. If A is any square matrix of order 3 , show that A- A" is skew symmetric .
P viii. Define Skew Symmetric Matrix .
i ix. 1 2 5 0o 0
If 4= and A” = , find values of a and b
a b 0 0
x. Find roots of equation 15x® +2ax—a* = 0 by using quadratic formula.
] o . 1
#l= If a,p are the roots of 3x* —2x+4=0, find value ot _11_+F
o )
xii. Discuss the nature of roots of equation x*+2x+3=0.
3. Write short answers to any Eight parts : (8x2=16)
I Resolve in to partial fractions.
ii. b B s x*—2x
' Write identity for ¥ - f+3 "
) xtx+l
iii. Define proper rational fraction.
i e a,,-—:——l—-—— , write 1*' 4 terms.
a+(n-Dd
v. Which term of the AP 5,2, - 1, - is - 857
V1. wWhich term of the sequence =yl x+ y,‘f—t—y-, ........ is 'H'yq
x—=J {x—3)
vii. : 1 1 1
Qum the series —+—_ -+t .
s 25 125
viii. Show G2 = AH,Where A,Gand H are arithmetic geometric and harmonic means between and b .
ix. Find the value of n, when . "¢ ="c,
x. If 142 +4+ . ooenns + 27! =27 _1 then verify for n=3
> (R : : 3 1)
Find the fifth term in the expansion of (Ex——j—— .
X
xii. Expand (1-x)"? upto3 terms.

Write short answers to any Nine parts : (9x2=18)
a+f

If a,p,y aretheangles of a triangle ABC then prove that Cos(—; )= sin%

sin@ —cos@tan@/2
- =tan6/2.
cos@+sinftanf/2

Prove that

( Turn Over)




